R\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1-.8.dwg, FL-15213.2

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

Smooth / Wood Grain / White Wood Grain

Rustic / Mahogany
Series Fiberglass Door

INSWING / OUTSWING
"IMPACT"

GENERAL NOTES

. This product has been evaluated and is in compliance with the 2010 Florida Building

Code (FBC) structural requirements excluding the "High Velocity Humicane Zone"
(HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor
embedment to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection this product complies
with Section 1609.1.2 of the FBC and does not require an impact resistant covering.
This product meets missile level "D" and includes Wind Zone 4 as defined in ASTM
E1996 and Section 1609.1.2.4 of the FBC. The sidelite must be protected with an
impact resistant covering that complies with Section 1609.1.2.

For 2x stud framing construction, anchoring of these units shall be the same as that
shown for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further
engineering analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET #

DESCRIPTION

ey

Typical elevation, design pressures, & general notes

Door panel details

Sidelite panel details

Horizontal cross sections

Vertical cross sections

Vertical cross sections

Buck and frame anchoring - 2X buck masonry consfruction

52.75" MAX. OVERALL

FRAME WIDTH

37.50" MAX.

15.25" MAX.

FRAME WIDTH

FRAME WIDTH

82.00" MAX. OVERALL FRAME HEIGHT - INSWING

80.37" MAX. OVERALL FRAME HEIGHT - OUTSWING

INSWING

52.75" x 82.00"

7.00" x 63.00"

Frame anchoring - 1X buck masonry construction

OO IO O N

Bill of materials, glazing detail & components

OUTSWING

52.75" x 80.37"

7.00" x 63.00"

G1

+47.0 -47.0

0 b
3 Enr§
] e ~
em E£5 2
= ,\um(ﬂ
pgoE . g
- [+] Z
%83?2 u
HE8 85 |«
227 S8\ &
EQS”E"E he]
éoa-;n.g E
o 3]
3 252330
B85
82568
Roea 88 6
|z Bodog 4
® °3 g
- o= 1
§ 5%
E@ ol
3
Q
[+]
| [=]
7]
3 oz
&) b
i
onl., =l
n:glb EO
&(.')ui) ..J‘ﬂ
0cf Ll L
gl-upﬂ ]
oS 85
3] g
a g
=) e
x E o
o o
&
)
e
o
(2]
o
=
o
o
Z
oATE: 02/16/12
SCALE:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
FL-15213.2

SHEET _] oOF _9

© 2012 R.W. BUILDING CONSULTANTS INC.




TN BLNMVATINENGD SNIOTHNE "MW BLOE @

BO¥PEE "ON TH'd IPLUYSE T4 uopusl SNOISIASY
e = R SLIA TINVG ¥00Q A8 A O eln] o)
CLEE "ON UOHDZUOWINY JO SIDIYRIPD - s 2
sipouBUT [DUSISBRIOI O DIDOE DDLIOLY SAIBH3SSY HO 1dvd w M . m,._.w k&
LBLEBGHTLY TON SuoUd d000 SSYIDX38 Ww . £« o
geece "id OOMIBA OFZ Xo8 ‘O°d \S&@“ ONI D¥dLSVTd S ElElg L]
DNl ‘SINVAIASNOD SNIING . i m B
g pedpdesy sjuswInoog LONHION & m 5 m #
o
©
o7
LL
[
2L
LLE
oy .
S S

NTERIOR

772\ VERTIC AL CROSS SECTION

ty sy
I 5 . B
_ { — A e - By s o=
@ & mw X 28 K mc
IR
# = ! g
. < T« 861 ,L
: ® ®
£y
8
ﬂ 3
:
& bri]
=i m,g
3 215
W ahg
. &% e QO] we -
o i\ s b
& %% IS} L
% B
2 L W - e
R\ 9 o " —0st=—  Flo
S e % alz T =
) ] =k [ A
= & = B . Bl
- _, -
IR BT SN

—iga=

b

BOOE PANEL

3575 MAX
DGOR
PANEL WIDTH

T

e [HOEH HNYd JO00 XyW 5776, —=

2T BMP'g-T'ETZST-1\0TOZ\SBUIMEIC DEMY "A\LBST 4d\009T - ToST foadisiapiog wafoid\sioafosd - v\y



M) BANYITIOIERMOD GRNIGTAE AAM B1LOT @

BOFPSE CON “T'd ‘IPLULUDE 4 UBpUKY SNOISIAIY

202 T4/ SWLIG TNV ILTICS Ad ELGRIY N I DY

TLE6 "ON UORDILOWNY JO BIDDUNISY . I s o S
2IBUBUT |DUOISERI0IL] 1O DILOE DRLIGIY ATENESSY HO LdYd b B . &
LB18'6EY'CLE VON BUOU H000 SSYToN3gid Ww = g v EM

CESET 14 OBLHDA DEZ XOm ‘O'd \h\wg N OHLISY < Elilg |
oM CSANYLINSNOD ONIGTING . Bl m L lE i "
A peubdeld SIUBLIRSOQ LONGOMNS 3 m B m &

INTERIOR

&
Y, & =
= O
>< i
H ¥
|15
; &y
- S -1 ¥
Ch : S 3
bt
i
o
o
m

NE

b
| )
3 i Gz
. il
2 &%
- Wil
» &
fo
N o
&
= e GG ] m
= o=
&=
G / 3|2
[ = &
2]
2 : =k
/1 9 g
o ae e 3 Loz
'S /i O % 8 .
i s £ __
Z 14 = b
e (R
7 3
&g
o]
e
8 @
:Om.m i =
m
[M.’ B

1.58"

SIDEUTE TOP & BOTTOM RAIL
=/ Celular PYC

13.75" MAK,
SIDELTE
PANEL WIDTH

|

P

T

~
SIDELITE PANEL

THOEH O 70 YMYyW 0ey silI.L

7.00" MAX
D.LO. WIDTH

IHSIEH TNV A SINSAIS XYW .5T°6L =

7'¢ BMpg-TETZST-1NOTOZ SBUIMeI DaMY "A\LBST 44\000T - TOST foid\siapiod wefold\s1oeloid - Wiy



RA\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWBC Drawings\2010\FL-15213.1- 8.dwg, 4.2

INTERIOR

EXTERIOR

/i

1/

/"4 "\ HORIZONTAL CROSS SECTION

‘\U Inswing configuration

1-1/4" M.
EMB. {TYP.)

sl LA.

NOTE:

EXTERIOR

' SEE
NOTE T

INTERIOR

1. Sidefite paned secured fo the sidelite
frome with {4) of item #22 located
1, 305" 51" and 71.5" from fop of

aach fjamb and (2} of tem #22in

the head and s 3" frormn egch end

//\ HORIZONTAL CROSS SECTION

\\\.,//} Outswing shown - inswing
also approved

INTERIOR

EXTERIOR

_

f

®

/"2 "\ HORIZONTAL CROSS SECTION

\di;/‘ Outswing configuration

1-1/4" MIN. ~
EMB. (TYP.) =
,—»"-\\/"

29)SEE |

NOTET

7“5\ HORIZONTAL CROSS SECTION

W Shown w/1X sub-buck
1-1/4" MIN.

EMB. {TYP.)

EXTERIOR

SEE
@N@TE j

m HORIIONTAL CROSS SECTION

W Outswing shown - inswing
also approved

A S W i T

PO, Box 230 Vairico FL, 3355
Lyndon F. Schmidt, P.E. Mo, 43409

BLHLDING CONSULTANTS, NG

FPhene No.o B13.6859.21%7
Florida Beard of Professional Engineerz
Ceartificgte Of Authorization No. 9813

Ry

Documents Prepared By:

PLASTPRC INC.
FIBERGLASS DOOR

PART OR_ASSEMBLY:
HORIZONTAL CROSS SECTIONS

PRODUCT:

BY

REVISIONS

o
P
-
=
2

oaTe: 02/ 16/

e NUT.S,

RG, BY JE

CHIL Y LFS

DRAWING NO.;
FL~152313.2

sheer 4 oF G

© 20712 B.W. BUILDING DONSULTANTE ING,



O BAMYLTRENDD ONICSHNE W BE108 @

BOFPSE ON “I'd “IPIUYOS 4 uopuiy SNOISIAIY
I T e ¥ o By SNOLDIS SSOMD TYOLMIA A8 VG JONT R ol o
£188 'ON UORDIUORNY IO S1DDIISD - ~ 5 Ll 20,
eieabUT |DUCIEEDIOIY IO DIDOE DRG] AOANESEY H0 LHYd Mw,u b I
LELE'BEE'CLE TON SUOYY ¥00U SSY9ddald & < . § 2 Sw
§6GET T4 OSLIBA 0FT ¥oE ‘O'd \Sﬂ@d "ONI OddISYId o iklElg !
“ONI CSINVIINSNOD OMIGTING . i m 1 | i i
4G pesbdelg SIUBLINSDY LaGONd W m & W &
(dAL] "aWd
NI LF L
o
Q
%
2 =
e = O
O G
L B4
Z 9 3| 5
= Lo
€3 2
3 Ol
3 2%
< v &7 =] O
/ 28 33
. S £12
. D 3] o A
oot P Q e
< | 5 =
U= =
ST s 0 o {10
O w2
8| =P
Lid
5
3 (o)
{"dAd) awa | -
NIW L -
(dALl “gwE
NI LF -
f%
o S [dAL)
_ o — rem— NSO
7 S0
%, % o S
= & O i =
: BB i &

. z Yo Z i &
[ e by W —— Wy M,Ew
; ne SE

1 [ 74 L
. Ol &) 2
e &
oge =k
Sy FB8 Ul 2
D _ W .Ww Bz
i [ Y] g
v : & ﬂ .mm = _m.%
7L =00
o1 O : (o}
; N b . pel \"|W o
Pl @ ® & z
| FdAL) oW _
MW F/ L

7S 'Drp g -TETZST-14\0TOZ\SBUIMeIqg DIMY "QAEST 4d\009T - T0ST loadhsiapiod 1afoid\salond - vy



W

INTERIOR

m VERTICAL CROSS SECTION

Outswing shown - inswing
also approved

1-1/4" MIN,
EMB. (TYP.]

INTERIOR

1-1/4" MIN.
EMB. (TYP.)

/73N VERTICAL CROSS SECTION

K\i/ Outswing confiquretion

\@iiESTE 1
@

EXTERIOR v INTERIOR

NOTE: "2\ VERTICAL CROSS SECTION

1. Sidelite panel secured fo the sidelite
frame with {4) of ifem #22 located \_6_/ Shown w1 sub-buck

I, 30,57, 51" and 71.5" from fop of
each jamb and {2} of item #22 in
the head and sill 3" from each end

EXTERIOR INTERIOR

SEE
NOTE s@\

1-1/4" MIN,
EMB. [TYP.)

7“4\ VERTICAL CROSS SECTION

\\é/' Irswing configuration

1-1/4" MIN.
EMB. (TYP.]

2 ¢ 43
] gwm +
D] 2 -
gw = TR
Z Do
gk e® e
oW v 8
T
4 2
5'“553%5 o
=S ey @ 5
o v8T B
mUN‘:e-.ﬂ =
xow-g\\:)u
3Ea,.° 7
g @ " Ets L
Q,,moDG =
CRoak &8 &
o 3 v
@ § o B E_
i a &= ]
c TP
F b ¢
PR
=1
L]
O
o
wy
=
<
o =
e £
(] Lig
8 ©
owl L., B
ety PHE
i Foi s
a3
L= L
SEE o
- iR
B Sl B
b
g o &
[an] . =
T
B o
=
[ia)
3]
=
o
o
ol
[24
g
<L
o
o
=
SATE:GQ/?@/?2
scAE: NS
CHIL B LFS
CRAWING MO
FL—-15213.2

sEer 6 oF G

R\A - Projects\Project Folders\proj 1501 - 1600\PF 1587\D. RWEBC Drawings\2010\FL-15213.1- 8.dwg, 6.2

Q2012 BW. Buioing CONSULTANTE NG,



R4 - Projects\Project Folders\prol 1501 - 1600\PF 1587D. RWBC Drawings\2030\FL-15213.1-.8.dwg, 7.2

¢
4“ 73] G!
a £ L3
4 L Ly s A e 4 .y Z E
ro . o ;4”;-‘“-’.‘/ v_a—! I—a’f% ¢ . v;f%!.g:?:;‘g
T =] — a = Lo ==
il % L SsEgey o
| L e " ZoEtid 8
i — 2z 5 88 820y £
| 28 i LR I
I o NE e & 55%295
It | ” Y “ 5 |F28d: ¢
= £ 3 F
" Il - 3 £ § E I
= - - e & g
[ / 85
TYP. m . .& ) _ § % £d
oy HEAD & JAMBS I i . TYP. HEAD & = ] ) &
: o JAMBS g
BUCK |E ! o é = _ ; %g
ELE . =
- ”! = e —‘——_—_.—.__- § !.an = L) . CE@
% e : - ) % = g 25
I N "3 : - =K
I T ey
P LRV S
e . G
MASONRY i BUCK OUISWING - Solg B2
OPENING Sl o
—  MULLION SHOW | —_ = SN
lii MASONRY _ TR ™ iy
FOR REFERENCE OPENING x\m INSWING S & S8
— ONLY | e fYp. @ siLL - : 2 p| B
& =
o I S
R | B e
e RN l..'a' - i °
. [[— | 1L
= o T - LI SR T L e = e — L
. @é'. ".'.,A'W h: ﬂ-‘ [ . ,&, ,é"'“l"-. &:
e ‘l"'.. : 'w-.. ; '.,}é. ‘.?l. - ) v 4:‘\\\
N A A L A . U)
5
|
BUCK ANCHORING HINGE JAMSB FRAME ANCHORING STRIKE JAMR @g
Masonry 2X buck construction o
CONCREIE ANCHOR NOTES:
1. Subsfitution of equdal concrele anchars from g different supplier may hove different edge
distance and center distonce requirements.
2. Concrete anchor localions of the comers moy be adiusted to mainiain the min. edge £ N INSWING
distance to moriar joints. If concrete anchor locations noted os "MAX, ON CENTER” must be £ ;{;f _ L
adjusted to maintain the min, edge distance to mortar joints, additional concrete anchors , <
may be required o ensure the "MAX, ON CENTER" dimensions are not exceeded, % ) Pl (38 OUTSWING &
3, Concrefe anchor fable: . “i , f Ny o
....................... » . e
Ane F=—(e) e .
= . NswING [ 02/18/12
sear NTS,
~ oS, B S
W 1/4° 11/4" 2-1/2" . / (2g)
/ / / 3 / / 38) OUTSWING [ —T/5
” N . " OREBING NOu
ELCO 14 i-1/4 1 4 HINGE JAMS STRIKE PLATE DETAIL FL—15213.2
seer 7 oF 9 _

© 2012 BW, Bunpivg CONSULTARNTS NG,



1600\PF 1587AD. RWEBC Drawings\2010\FL-15213.1-.8.dwg, 8.2

R4 - Projects\Project Folders\prod 1501 -

71.96"

4.71"

9.46" e
Eat

HINGE JAMB

CONCEETE ANCHOR NOTES:

17.5" MAX
OM CENTER

FRAME
~

1X
BUCK
MASONRY
OPENING \’W
e

©)

TYP. HEAD & JAMBS

g,

prme,

I
12" MAX
ON CENTER

' OUTSWING

—

Lﬂ— 24" AKX Q.C. ‘“"F

distance and cenfer distance requirements.

FRAME ANCHORING

fosomy1 X buck construction

1. Substitution of equal concrete anchors from o different supplier may have different edge

2. Concrete anchor locations af the corners may be adivsted o maintalin the min, edge

distance fo moriar joinis. If concrete anchor locaiions nofed as "MAX. ON CENTER" must be
adjusted o maintain the min, edgs distonce o mortar joints, addiional concrete anchors
may be required o ensure the "MAX. ON CENTER" dimensions are not excesded,

3. Concrete onchor foble:

W

/&

1-1/4"

2-37E

3‘@

STRIKE JAMB

B
I

3912

5‘5"

7 )

AF

1/
HINGE JAME

STRIKE PLATE DETAIL

]i
& .
(=0

o. 9813
Cet o rwm

d?ayz

B13.659.9187
Lynden F. Schmidt, RP.E. No. 43409

BUILDING COMSULTANTE, INC.
P.Q. Box 230 Valrce FlL. 33595

Documantz Preparad By:

Phrone No.:
Florida Board of Professional Engineers

Certificote OF Authorizatic

PLASTPRO INC.,
FIBERGLASS DOOR
PART OR ASSEMBLY:

PRODUCT:
FRAME ANCHORING
1X BUCK MASONRY CONSTRUCTION

BY

(38) oUTSWING

REVISIONG

NOJ DATE

nave: 02/16/12

SOALE: NT.S.

[ Ji

CHE. BY: LFS

DRAMING MO.:
Fl-315213.2

SHEET & o G

£ 2012 RW. BUILDING DDMNBULTANTE NG,



VA - ProjectsiProdect Folders\proj 1501 - 1600\PF 1587\D. RWEBC Drawings\20L0\FL-15213.1-8.dwg, 9.2

BILL OF MATERIALS
[TEM| DESCRIPTION MATERIAL
| | MASONRY - 3,192 PS| MIN. CONCRETE CONFORMING TO AC CONCRETE
301 OR HOLLOW BLOCK CONFORMING TO ASTM C90
2 | 1XBUCK SG >= 0.55 WOOD
3 | 2XBUCK SG >=0.55 WOOD
4| 1/4 MAX. SHIM SPACE -
5 | 1/4"X 2-3/4" PFH ELCO OR TW CONCRETE SCREW STEEL
6 | #10x 2-1/2" PFH WOOD SCREW STEEL
7| 1/4"x2-1/4 PFH ITW CONCRETE SCREW STEEL
§ | #9 x3/4" PFH WOOD SCREW STEEL
9| DOOR SKIN {MIN. 0.075" THICK] FIBERGLASS
10_| INSWING VINYL DOOR BOTIOM SWEEP BY ENDURA VINYL
TOA | VINYL DOOR BOTIOM SWEEP #3628 BY HOLM IND. VINYL
T1_| RENFORCEMENT WOOD FOR LOCK WOOD
12 | FINGER JOINTED PINE FRAME, HEAD & HINGE JAMBS WOOD
13 | #9x 2-1/4"PFH WOOD SCREW STEEL
14 | BOTIOM RAIL CELLULAR PVC
15 | INSWING ADJUSTABLE THRESHOLD BY ENDURA ALUM. / WOOD
15A | INSWING ADJUSTABLE ALUMINUM THRESHOLD BY DLP ALUM. / WOOD
16 | FORCE 5 WEATHER STRIPPING BY ENDURA FOAM
16A | COMPRESSION WEATHER STRIP QLON 650 BY SCHLEGEL FOAM
17 | KWIKSET KEYED ENTRY - SIGNATURE SERIES STEEL
T8 | KWIKSET DEADBOLT - SIGNATURE SERIES {780)] STEEL
19 | CONTINUOUS SIDELITE STILE REINF. WOOD
20| POLYUREIHANE FOAM BY NANYA POLYURETHANE
21 | 4 x4 BUTI HINGE STEEL
77 | #8 x 2" PFH WOOD SCREW STEEL
24 | HINGE & LATCH STILE CELLULAR PVC
25 [TOP RAIL CELLULAR PVC
26 | SIDELITE STILE CELLULAR PVC
77 | STRIKE PLATE STEEL
28 | OUTSWING BUMP THRESHOLD ALUM. / WOOD
29| DEADBOLT STRIKE PLATE STEEL
30| SNAP IN LITE FRAME ABS
31 | #9 x 1" PFH WOOD SCREW STEEL
32 | 1/4"X 3-3/4" PFHl ITW CONCRETE SCREW STEEL
33 | SIDELITE TOP & BOTIOM RAIL CELLULAR PVC
34 | SHOE MOULD 5/8"x 3/8" WOOD
35_| GLAZING COMPOUND SILICONE
36 | GLAZING SPACER ALUM.
37 | SEALANT SILICONE
38 | 49 x 2’ PFH WOOD SCREW STEEL
39 | SIDELNE SPACER PVC
40 | HINGE & LATCH STILE REINFORCEMENT LVL
42 | 1/4"x3-1/4 PFH TW CONCRETE SCREW STEEL
43 1 1/4" x2-3/4 PFH TW CONCRETE SCREW STEEL
50 | DOOR PANEL - SEE DOOR PANEL DETAIL SHEET FOR CONSTRUCTION DETAILS i
60 | SIDELITE PANEL - SEE DOOR PANEL DETAIL SHEET 3 -

3
& 2.37* ;

SIDELITE SPACER

3%

S0° GLASS BITE
30

174
.
i

. 28 ) QUISWING BUMP THRESHOLD

1.000" NOM.

GLASS THK.

1/8" TEMP.
GLASS

L AR

~ SPACE
-

T OPTIONAL

ADJUSTABLE INSWING 3L

16A}

1.2

\ DECORATIVE INSERT
AlR

SPACE

1/8" TEMP.
GLASS

()

BUILDING CONSULTANTS, INC.

PO, Box 230 Vairice FL. 338525

Phone Neo. 813.659.9187
Florida Board of Professional Engineers
Certificate OFf Authorizaotion Neo. 8813

R

Documents Prepared By:

é?ﬂ‘z'fv.,z“

Lyndon F. Schmidi, P.E. No, 43409

FLASTPRO INC.
FIBERGLASS DOOR

PART OR ASSEMBLY:
BILL OF MATERIALS, GLAZING

PRODUCT:

DETAIL & COMPONENTS

BY

REVISIONS

s
<
o3
S
=
z

b4t 02/16/ 1

scAE: NUTE,

G, BY: Ji

T, BY: LFS

TRANIEG NG
FlL-15213.2

suEEy 9 oF 9

C 2018 AW, BLILDING CONBULTANTS IMS.



